SR PR LD 1T I
SIS D BUAR

Wk2 2554

RIEROEARTTINS S



X8I

CONKRII, WHBBEFE292RICHVNTERAT DREF243RDIFH1 BOREIC
KO KSOHBIRRZBBERDERICL A > TUVEZIEE, NESALETHICKY
IRICEMECHDZNEELIZH. BFSRE11BD2017>TNSEDTY,

SODAKRTIE, 21 FETHE (Em21 F10818D05¥ER22F38318
IO CRITIBDBEFEEFENTORRNRUER21 FESYFEOHRBEF & 5708
EESESIONGE R

BH. SRPDOEREEL. FHEDEDEFRNTENIEFHTI, LEN>T. BEfIKE
DEFES, —BlimEERE U EDZRNTRIIE UV THERAALTHDET, 2. 18
R, BERIEEFR, NHRIUTE2MZOEAA U UNMIRIMTE1IE T DT
X9, COH. BRLEDEGFTDM100%ICESRNBEEEHDET,



w N

~N o 0 M

B X

Ilzbj(: 21 ﬁg%%m%ﬁﬂzqﬁ;ﬁ ............................................................... 3
(1 ) /E\E-I-%U%@J—_Eqﬁ)‘ﬁ .......................................................................... 3
(2) ?@EW'/}DQ ................................................................................... 6
Ilzbj(: 21 ﬁ}g—?%@ﬁtﬁﬂﬁ)ﬁ ............................................................... 8
E\ZE@HK;R ....................................................................................... 11
(1 ) BEE\ZE ................................................................................... 11
(2) %@{-@ ...................................................................................... 12
I@H1§&U_H§{iét)\(ﬂ§£ﬁ&%®qﬁjﬁ ...................................................... 13
Ilzbj(: 22&%%%@%% ..................................................................... 14
%%@}E*% ....................................................................................... 15
Ilzbj(: 22ﬁfg$§/ﬁ\§+?’”$ﬁggu_% ...................................................... 16
(1 ) Iﬁ)\ﬁajﬁ‘XIE%U (gag%”) _%-" ..................................................... 16
(2) ﬁﬂjﬁﬁﬂﬂ—%— ............................................................................. 19

%T—E%}EE—E@%}EHK}R ........................................................................ 29



1 K2 1 FEFEDMIEIA]

IR 21 FEFEONFHOMIERRE, ROERDTT,
1BEMBESICHRNT, —REFTRUQODOFBRIEFtERMIELE U,

(1) HEtRIMIERR
© —fRdt
(A (81 FH. %)
. wom=es | LHIE e 83
e 1B BUFE| =e=n 1BfHIE | EE=R
FEH WIEBOE B
1 PDIBERUVEBE & 18 &| 250,554| 250,554 A 3,266 A 1.3 247,288 95.2
2 FABRNRUOFHEHNM F # A 10,910 10,910 A 410 A 3.8 10,500 4.0
4 % i &1 2 i & 1,000 1,000 803 80.3 1,803 0.7
5 5% IR Al2 M 29 29 0 0.0 29 0.0
=) 5 262,493 262,493 A 2,873 A 1.1 259,620 100.0
(AL (Bf1 FH. %)
. wom=es | LHIE e 55
E2 ] BUNFE| ==a 18WLE | @ER
FEH WIEBORE AL
15 = &1 & = = 165 165 0 0.0 165 0.1
2 i 3 Bl iR 3% S B &| 250,418] 250,418] A 2,463 A 1.0 247,955 95.5
3 & 4+ BI11REBE % & 10,9100 10,910 A 410 A 3.8 10,500 4.0
6 F =] &1 F fig =1 1,000 1,000 0 0.0 1,000 0.4
=] 5t 262,493 262,493 A 2,873 A 1.1 259,620 100.0
Q@ WHERSAITZ)—FERANSE
(A (81 FH. %)
. wom=es | LHIE e 83
e 1B BUFE| ==n 1BfHE | EE=R
FEH WIEBOE B
1 PDIBERUVEBE &8 18 & 2,143 2,143 A 1,516] A 70.7 627 68.4
2 18 i vl R i 100 100 190 190.0 290 31.6
=) 5 2,243 2,243 A 1,326] A 59.1 917 100.0
(L) (87 FH. %)
. wom=es | LHIE e 55
z I BFE| ==n 18WLE | @ER
FEH WIEBORE B
1% B8 B1HHSsHEE 2,243 2,243 A 1,326 A 59.1 917 100.0
=) 5 2,243 2,243 A 1,326] A 59.1 917 100.0




©)

5% S EFEMIEREERRNRE

(A (81 FH. %)
- wom<es | LHBE e 83
e 1B BUFE| =emn 1BfHIE | EE=R
FEH WIEBOE AL
38 E IR A1 HEERBINA| 10,132 10,132 7,480 73.8 17,612 95.4
4 48 i v R i x 100 100 0 0.0 100 0.5
53 I A2 M A 744 744 0 0.0 744 4.0
=] 5 10,976 10,976 7,480 68.1 18,456 100.0
(Fd) (81 FH. %)
- wom< e | LHBE e 83
E2 13 BUFE| =emn 1BfHIE | EE=R
FEH WIEBOE AL
1 8 3 B1HBEERERE 7,389 7,389 7,995 108.2 15,384 83.4
25 T 15 & 3,587 3,587 A 515 A 144 3,072 16.6
=) st 10,976 10,976 7,480 68.1 18,456 100.0
@ FEEEMEREFERFISE
(A (Bfi1 FH. %)
- wom=es | LHIE e 55
= I BUFE| ==a 18WLE | E@ER
FEEH WIEBORE AL
1 DBERUVEGBE1 & 18 &| 94,363| 94,363 A 456 A 0.5 93,907 69.4
2 BRABRKRUOFER & B B 28,376| 28,376 A 1,800 A 6.3 26,576 19.6
38 E R A1 HEEARANA 60 60 0 0.0 60 0.0
4 % i &1 f2 i & 1,000 1,000 0 0.0 1,000 0.7
5 & IR Al1 M Al 10,935 10,935 A 1,688 A 15.4 9,247 6.8
6 8 A F1EEEB AR 5,756 5,756 A 1,241 A 21.6 4,515 3.3
=] 5 140,490| 140,490| A 5,185 A 3.7 135,305 100.0
(Fd) (81 FH. %)
- wom<es | LHBE e 55
E2 1B BUFE| ==n 1BfHIE | EE=R
FEH WIEBOE B
1 & 4+ B1 1R & & & &F| 113,186] 113,186 A 5,185 A 4.6 108,001 79.8
2 N & &1 & & 26,304 26,304 0 0.0 26,304 19.4
3% =] &1 F fig =1 1,000 1,000 0 0.0 1,000 0.7
=] 5 140,490| 140,490| A 5,185 A 3.7 135,305 100.0




®

LEL U -EERRIRE

(mA] (8Bfi1 FH. %)
- wom=es | EHIE - 55
e B BUFE| =mn 1B#IE | BER
FEH WIEBOE AL
1 DIBERUVEBE & B &| 13,824| 13,824 A 647 A 4.7 13,177 94.3
3 2 2] F|1 18 i & 100 100 647 647.0 747 5.3
4 58 I Al ¥ A 43 43 0 0.0 43 0.3
=] 5 13,967 13,967 0 0.0 13,967 100.0
(Fd] (81 FH. %)
- wom=es | EHBE - 55
E B BFE| ==n 1B#IE | BER
FEH WIEBOE AL
1 # B B1 5 #HBE &l 13,867 13,867 0 0.0 13,867 99.3
25 5] &1 F & & 100 100 0 0.0 100 0.7
=] 5t 13,967 13,967 0 0.0 13,967 100.0
©® EMEREFESEFENEEENEE
(mA) (81 FME. %)
- v | CHAE - 55
£ B BHFE| =emw 18®IE | BER
FEE WIEBORE AL
1 DIBERUESIBE|1 &8 18 &| 43,200 51,200 0.0 51,200 49.8
3 g A (1B & B A & 45,4001 51,400 0.0 51,400 50.0
48 E I A|1 EHHEERIRA 164 164 0.0 164 0.2
=] 5t 88,764 102,764 0 0.0 102,764 100.0
() (8Bf1 FME. %)
- woom= s | EHAE - 55
E B BHFE| =emw 188IE | BER
FEH WIEBORE AL
1 & 4+ BI11REB & £ & 88,764| 102,764 0.0 102,764 100.0
=] 5t 88,764 102,764 0 0.0 102,764 100.0




(2
@ 18

HIEANDS
ED
— iR =&t
(B FMA)
fIEE1S TS ENDB 1H1EZE
m A |—RiEEGBEE A 3,266
BREZFFHN A 327
SFETERMFER A 83
et 803
m B |#eR A 807
BEFIF A 1,235
HEE 40
ENRIRARE A 461
BARAY AT LANEERFTR REEESE) 189
BREBHBHRNE A 599
FRERESA T35 ) —BEHKE
(B FF)
AIEE1S FRSBSENRNDB 1H1ERE
m A |EBESIBT A 1,516
it 190
m B (EDRRAE A 226
B FiEG A 1,100
55 EEHIERESERNEE
(B FF)
AIEE1S F 32 NS 1H1ERE
w A |SDSEFEBHEEERNF 7,480
m B |[SDSEFEBHICEEEIE 7,995
ENRRAE (EXEEDUIREE ) 657
THFEEE (EXEHIREE) A 1,172




BEREMFREXFRRE

(B FM)
AIEE1S FRSBENRNB fH1E%R
m A |EBESIBT A 456
IRER A 1,800
BMEZEE A 288
MR RiBtRHE A 1,400
M BGERRETIRAE A 1,241
m B[R A 2,100
BEFIF A 1,771
HEE 436
RE A 509
EEEERTEYNES T HEEE A 1,241
VEL U —BEEHRSE
(8Bf1 FM)
IEE1S FREERNTBT fH1E%A
m A |HHE&8BE A 647
R 647
% B | BRAERDMLE
EMEREFZEESFEMERSIRE
(B FF)
fEsE S FRSBENRNB fH1E%R
® A fER UL
w & CIWANG,




2 W21 FEFEDNTIA

P2 1 FEFEDONFBORTINR (ER2 2838318IR™) [ ROEHLDTT,

@ —#RE
(mA] (Bfi1 FH. %)
_ UNAEER Ekn]
S ] 2] 25 Enn—'—ugﬁ =z T Bl
T\X TEE nﬁ}:E _tf'ﬁlﬁ\g —FEE/HB /E,\g iﬂ'fjx -EE@,HB
1 DIBERUEaIBE|(1 & B & 247,288 247,288| 211,489 35,799| 247,288 100.0 98.5
2 EARNROFEHRI1TFE B OB 10,500 10,401 9,314 1,087 10,401 99.1 98.8
4 g i FI1ig @ £ 1,803 1,804 1,804 0 1,804 100.1 100.0
558 IN Al2 A 29 19 9 10 19 65.5 103.6
=] 5 259,620 259,512| 222,616| 36,896 259,512  100.0 98.5
(L) (8f1 FM. %)
. e | ZHEIE AR ~ | BZHl
i I,\ T %E ,— P 3R —
” TR\ GRE | ym | rem | en |0 | G0
15 = B153% = & 165 127 9 118 127 77.0 84.7
2 i % Bl1 WEES BB 247,955 246,986 106,273] 122,361 228,634 92.2 82.6
3 & 4+ BE1RRERELESE 10,500 4,160 1,817 2,140 3,957 37.7 34.7
6 % =] B1% ® B 1,000 0 0 0 0 0.0 0.0
=] st 259,620] 251,273 108,099 124,619| 232,718 89.6 80.6
Q@ WHEESA I —FEHNS
(mA] (Bfi1 FH. %)
_ URAEER Bal
S I FEIR%E | BERE - WMITR —
" g | R | & FEA
1 DIBERUaBE1 &8 B % 627 515 2,143| A 1516 627 100.0 100.0
2 1% i FI1i8 @ £ 290 291 291 0 291 100.3 85.0
3 F IR A1 M A 0 0 0 0 0 - —
=] B 917 806 2,434 A 1,516 918  100.1 98.9
(L) (8f1 FM. %)
. e | ZHEIE 2 HEEE ~ | BZHl
i I,\ T %E ,— P 3R —
g TEER Sam [ em | rem | au |0 | wE
1% B8 B1HHsHEE 917 805 410 395 805 87.8 79.1
=] B 917 805 410 395 805 87.8 79.1




Q@ ABEELEHILEERIRE

(mA] (Bfi1 FHE. %)
_ IR K ER Elastzn]
S ] 2] 25 Enn—'—ugg =z _ﬁJ
T\X urd ! E Dﬁ}:E _tf‘ﬁlﬁ\g —Fﬁlﬁ/ﬁﬁ ff,\g iﬂ'sz -EE@,HB
3B E WX A1 HEEARARA 17,612 17,621 6,556 11,065 17,621 100.1 100.0
4 g i FI1i8 ®©W JF 100 224 224 0 224 224.0 98.3
53 IR Al2 # A 744 857 0 857 857 115.2 105.7
=] s 18,456 18,702 6,780 11,922 18,702 101.3 99.8
(] (Bfi1 FH. %)
. < o | ZDEIE ek e | BER
s 15 BE| ot 57 o=
™ Tgiﬁ T:I';‘-%%E _tf‘ﬁlﬁ\g —Fflﬁlﬁﬁ ff,\g gﬂ'sz fﬁ@,ﬁﬁ
1 %4 P B1iixeREE 15,384 15,201 1,017 12,052 13,069 85.0 97.6
= T B185 I B 3,072 3,026 998 1,371 2,369 771 92.2
=] B 18,456 18,227 2,015 13,423 15,438 83.6 97.2
@ FEEMERBEFIS
(mA] (Bfi1 FH. %)
_ IR K ER stz
S JiE] 2] 25 Enn—'—ugg =z _ﬁJ
T\X g ! E Dﬁ}]i _tf‘ﬁlﬁ\g —Fﬁlﬁ/ﬁﬁ ff,\g gﬂ'sz -EE@,HB
1 DIBERUAEE[1 &8 B8 & 93,907 93,907| 75,538 18,369 93,907 100.0 100.0
2 FEARNKRUFHEN1E B ® 26,576 26,691 11,217 15,474 26,691 100.4 101.1
3B E WX A1 HEEARARA 60 60 0 60 60 100.0 100.0
4§42 i FI1i8 ®©W JF 1,000 1,000 1,000 0 1,000 100.0 100.0
53 IR Al1 M A 9,247 9,513 7,383 2,130 9,513 102.9 101.4
6 42 A FI1EEBEAE 4,515 4,515 0 4,515 4,515 100.0 100.0
=] 5 135,305 135,686 95,138]  40,548| 135,686 100.3 100.3
(L) (81 FM. %)
. e | ZHEIE 2 EEE ~ | BZHl
iy I,E\ ¥ %E = o 2 —
g TRV Gam [ em | vem | au |0 | wE
1% 4+ E1 1R R%E E£ &l 108,001 106,108 49,925 54,505| 104,430 96.7 94.6
2N & Bl1 B BB 26304 26,302] 13,151 13,151 26,302 100.0 100.0
3% & B1% B B 1,000 0 0 0 0 0.0 0.0
=] 5 135,305 132,410 63,076] 67,656| 130,732 96.6 95.0




® LELVI-FEXERRE

(mA] (Bfi1 FHE. %)
) IR AZEE S|

S I TEIR%E | BERE IR —
T\X urd ! E Fﬁ}:F_ _tf‘ﬁlﬁ\g —Fﬁlﬁ/ﬁﬁ ff,\g iﬂ'sz -EE@,HB
1 piBERUvaEg(1 a8 B8 £ 13,177 13,177 13,824 A 647 13,177 100.0 100.0
3 g i FI1i8 ®©W JF 747 747 747 0 747 100.0 100.1
4 3 IR A1 M A 43 10 5 5 10 23.3 102.3
=] s 13,967 13,934 14,576 A 642 13,934 99.8]  100.0
(] (Bfi1 FH. %)
- < e | ZHHEIB AR — | B%EED

= I=] | o= P54 —
by B=| Tgiﬁ j=| Tj;‘-%%,é _tf'ﬁlﬁ\g —Ff'f,ﬁﬁ /E,\E gﬂ'fji -EE@,HB
12 B8 B1HsHEE 13,867 12,135 6,397 5,692 12,089 87.2 88.7
2% =] 1% w® Z 100 0 0 0 0 0.0 0.0
=] 5t 13,967 12,135 6,397 5,692 12,089 86.6 88.1

® ERMEREFESZFENEERIIRE

(EA] (Bfi1 FH. %)
B U Elastn]

= 18 TEIREE| PBEZE TR —
T\X Tgiﬁ Fﬁ}:E _]:Elﬁ,H\g —Fﬁlﬁ/ﬁﬁ Sg gﬂ'sz -EE@,HB
1 DIBERUAEE[1 &8 B & 51,200 51,200 28,200 23,000 51,200 100.0 100.0
3 g A FI1EEEBEAE| 51,400 51,389] 39,000 12,389 51,389 100.0 100.0
4 8 E IR Al2 HEERINA 164 164 0 164 164 100.0 —
5 g i FI1i8 ®©W JF 0 6 6 0 6 — —
=] B 102,764 102,759  67,206]  35,553| 102,759|  100.0 50.0
(L) (Bfi1 FH. %)
N JU &18 pedunhi=ri] L = A=At
3 B | Pmms|2aE g | I8

T8 | by | s £

ob
E;E

11 4 E1REEEE| 102,764| 102,758| 55,200 47,549 102,749 100.0 50.0
/El\

5t 102,764 102,758 55,200 47,549 102,749 100.0 50.0

10




3

BIEE DYA]

P2 2F3831BIREICRITIHERESDINRIE. ROELBDTY,

(1) NBEHE
@ TRURY GEiE)
N 2 7]
T 0 K Gigem | s Eren) L
X S |88 #8 = s om = o8 o#m X B B 3
* ® X|x o K| x o X | x » =X
w53 w53 w B w B
Bow Zl®m o' 2| B w2 B om Z
# w Sl w £ 7 = £ # & 2
= = = = = = = = = = = =
=) =) =) =) =) =) =) =)
w| o of| | o of w| o ot w| o ot
A -
X T &
5
)
=7}
ZDIDHES
E _
m |
N 3% 2,582.81 0 2,582.81|2,582.81 0 2,582.81
B REEFE
1IN £
|8 |z otorEs
= 1\ =t 2,582.81 0 2,582.81(2,582.81 0 2,582.81
=] 5t 2,582.81 0 2,582.81] 2,582.81 0 2,582.81
1l M
ﬂét
R &7 M
&
2
B
Z 0t
E -
iy B 2,582.81 0 2,582.81] 2,582.81 0 2,582.81

11




2 Z O
@ ™ & (B @. &
X pa) FHHRIRES THEDPIBFS FEXRIETES
B BGLE 71 A5 66
R& 0 1h8-tyh 8 A5 3
NV DY — 62 0 62
O —#k 1 0 1
SmEMRESE 5 0 5
BI5AEHEE 5 0 5
5t 76 A5 71
XMBICDNTIBEEREDDOHBE,
© Si® (&0 F)
% B FHHRIRTES THEDPIBFS FEXRIETES
EEMEREZETENE 66,000 24,000 90,000
@ FH X
i REEESMERUIGIRES (B FMHD
X pa) FHHRIRES THEDPIBFS FEXRIETES
17 v 24,236 A 4,456 19,780
i DI EFHICES (&1 +H)
X pa) FHHRIRES THEDPISFS FEXRIETES
17 & 1,987 18,979 20,966
B @ 5 = 999,930 A 9,667 990,263
i RERMEEENMERESFES (B FMHD
X pa) FHHRIRES THEDPISFS FEXRIEES
17 & 50,200 11,163 61,363

12




4 MHBNO—BEAZIRESDIA

PRk 2 253831 BIREICRITIMHBIRESDINRIE. ROEHBDTY,

(BT 1)

FERR W - I 2:0)) Fg E X

x VAN 7 ~ H =l %E | r‘:ﬁ\ﬂTDr"l == I~

X A B oo |FTHOBAR| mewes | B g5 3
REBEESPFIFRBEFRIRET 105,531,645 0 10,880,277 94,651,368
1 B B = 105,531,645 0 10,880,277 94,651,368
(1) BEFPIFREBRFEE 105,531,645 0 10,880,277 94,651,368

—BBEAZICDONTI, EX22F3831 BIRTE.

13

EAIHDFEA.




5 Eg22FEFEDHR

1) # =

PR22F BRI FPEBENU M1 FEFEEEDLRE, ROEHBDTY,

BRIREtD DD, EEMEREZFEREENIELL. KEEH PR)IHROBIBHNSBHETZE
2T, RROHMTREIDSETI,

(81 TH. %)

2 5 & PR22FE PR21 5= t 8
- FEE | Wet | PEE | WAt | s | ges
— % = &t 232,157 43.6| 262,493 50.6] A\30,336] AI11.6
5 Bl & 5t 300,058 56.4| 256,440 49.4 43,618 17.0
RRES1IS5 -5 0 0.0 2,243 0.4  A2,243] A100.0
DS EEHIEER 20,301 3.8 10,976 2.1 9,325 85.0
EESPIFREE 134,888 25.3| 140,490 27.1|  A5,602 A4.0
IWFIH -5 13,764 2.6 13,967 2.7 A203 AL.5
EEMEREZERSETSEE 131,105 24.6 88,764 17.1 42,341 47.7
=] &t 532,215 100.0| 518,933 100.0 13,282 2.6

14




6 FEDH®

SNFEOBESFHOHEBE. ROEHBDTT,

(81 FH. %)

= i B E18EE | A 19FE | E20FE | K21 FE | ER22FE
— fig & &t 382,358 293,994 317,743 262,493 232,157
% Bl & &t 203,132 149,629 239,485 256,440 300,058
REPRIEERIEEEE 28,510 0 0 0 0
BVREESIITS ) —B% 3,049 2,978 2,343 2,243 0
HMRNAESEE 22,535 0 0 0 0
D ESEHCEE 7,043 7,036 13,492 10,976 20,301
EESPIFNEE 126,848 124,666 134,973 140,490 134,888
IVFt N —BE 15,147 14,949 14,877 13,967 13,764
EEMEREZETEFENSE 0 0 73,800 88,764 131,105
(=] st 585,490 443,623 557,228 518,933 532,215
FH FEDH
400,000
350,000 [
300,000 [ —I
250,000 F
200,000 o— & & &t
B B &
150,000 | O HEES/IS5)—5%
O A23&EHEES
100,000 | B EEEMYREXE
50,000 | ] ’L‘Et‘z@—%%
B EfRGRPESEEMNEE

[V

FRISEE  FRIOEE  FRFE FRAEE FR2EE

15




7 ERR22FEFERFTRIRBRI—5

(1) WMARERIER (B8R —8
O —fE=Et
(RA) (Bf FH. %)
=5 - ERR22FE P21 5= LbER
” 8 TE%E | Wit | TEE | et | @wiE | e
1 DIBENRUBEBE(1 8 B & 220,634 95.0] 250,554 95.5| A 29,920 A 11.9
2 BEARARNKRUOFERI1T F B A 10,495 4.5 10,910 4.2 A 415 A 3.8
4 & i} Fl18& & = 1,000 0.4 1,000 0.4 0 0.0
5 5 IR A2 3 A 28 0.0 29 0.0 A1 A 3.4
=] B 232,157 100.0| 262,493 100.0] A 30,336] A 11.6
(FLE) (8f1 F+M. %)
N - ER22FE P21 FE {29
” B TEE | Bt | TEE | Bttt | 18E%E S
15 = Bg13E = B 145 0.1 165 0.1 A2 A12.1
2 i % Bl1HFEEE 220,517 95.0| 250,418 95.4| A 29,901 A 11.9
3 & 4 B1REGFLEE 10,495 4.5 10,910 4.2 A 415 A 3.8
6 ¥ = g1 1w = 1,000 0.4 1,000 0.4 0 0.0
=] - 232,157 100.0| 262,493 100.0] A 30,336] A 11.6
Q@ fHEESA4 I —FEHS
(iFEA) (B 8. %)
- - ERR22FE P21 5= LbER
” 8 TE%E | Wit | TEE | et | @ewiE | e
1 piBERUVEBE|I1 &8 B £ 0 - 2,143 95.5 A 2143 EEJE
2 1% i} Fl14E @ K 0 - 100 4.5 A 100 B
=] 5 0 - 2,243 100.0 A 2243 EEPE
] (Bf1 8. %)
N - ER22FE P21 FE {29
” B TEE | Bt | TEE | Bttt | 18E%E B
1 B8 B1HUEsHEE 0 - 2,243 100.0 A 2243 5P
=] 5t 0 - 2,243 100.0 A 2243 EEJE

16




©)

5% T EFEMEIEREERNRE

(RA] (Bf FH. %)
=5 - ERR22FE LRk 21 FE 3 2%
” 8 TE%E | WAt | TEE | et | @wiE | e
38 E W A|l1 HEERNA 19,501 96.1 10,132 92.3 9,369 92.5
4 4% i} F|1& ©E = 100 0.5 100 0.9 0 0.0
5% IR Al2 # A 700 3.4 744 6.8 A 44 A 5.9
=] - 20,301 100.0 10,976 100.0 9,325 85.0
(FE) (B T8, %)
- - ERR22FE LRk 21 FE B 2%
” 8 TE%E | Wit | TEE | et | @wiE | e
1 #4 % 1HMBFERE 14,250 70.2 7,389 67.3 6,861 92.9
25 T 18 I B 6,051 29.8 3,587 32.7 2,464 68.7
=] st 20,301 100.0 10,976 100.0 9,325 85.0
@ FBEEMEREFERNISE
(FEA) (8Bf1 FM8. %)
=5 - ER22FE P21 E=E 2%
” B FE%E | Wtk | 55 | 8kttt | 1BEEE A
1 piIBERUE8EBE|1 & B & 91,294 67.7 94,363 67.2| A 3,069 A 3.3
2 BEARNNRUOFHERI1E B R 31,886 23.6 28,376 20.2 3,510 12.4
38 E W Al1 HEERAINA 32 0.0 60 0.0 A 28| A 46.7
4 & i} Fl1& @ = 1,000 0.7 1,000 0.7 0 0.0
5 58 IN Al1 A 9,648 7.2 10,935 78 A 1,287 A 11.8
6 & A FI1TEEBAR 1,028 0.8 5,756 4.1 A 4,728 A 82.1
=] - 134,888 100.0| 140,490 100.0 A 5,602 A 4.0
(FE) (B FMH. %)
- - ERR22FE LRk 21 FE 3 2%
” 8 TE%E | WAt | TEE | ekt | @EwiE | e
1 & 4+ Bl11RE&ELEE| 107,584 79.8] 113,186 80.6] A 5,602 A 4.9
2N £ B1r B B 26,304 19.5 26,304 18.7 0 0.0
3F = g1 ® =& 1,000 0.7 1,000 0.7 0 0.0
=] - 134,888 100.0| 140,490 100.0 A 5,602 A 4.0

17




®

LEL U -EXERRE

(A (Bf FH. %)
=5 - ERR22FE ERk21 FE 3 2%
” 8 TE%E | WAt | TEE | et | @wiE | e
1 piBERUVEBE|I1 &8 B £ 13,651 99.2 13,824 99.0 A 173 A 1.3
3 % i} F|1& ©E = 100 0.7 100 0.7 0 0.0
4 5% Y A1 3 A 13 0.1 43 0.3 A 30l A 69.8
=] - 13,764 100.0 13,967 100.0 A 203 A 1.5
(FE) (B M. %)
- - ERR22FE LRk 21 FE B34
” 8 TE%E | Wit | TEE | et | @wiE | e
1% 8 B1HEHEE 13,664 99.3 13,867 99.3 A 203 A 1.5
¥ = B1F% ® B 100 0.7 100 0.7 0 0.0
=] st 13,764 100.0 13,967 100.0 A 203 A 1.5
©® EMEREZEEEEMNEERISE
(A (8B FH. %)
=5 - ER22FE ERk21FE {29
” B FE%E | Wtk | 55 | 8kttt | B3 B
1 piIBERUEEBE|1 &8 B & 71,000 54.2 43,200 48.7 27,800 64.4
3 g A FI1TEEBRBAR 59,800 45.6 45,400 51.1 14,400 31.7
4 8 E W A|l1 HEERANA 305 0.2 164 0.2 141 86.0
=] 5t 131,105 100.0 88,764 100.0 42,341 47.7
(F) (8f1 FM. %)
N - ER22FE ERk21FE {29
” B FE%E | Wtk | 55 | 8kttt | B3 &R
1 & 4 B1 1R & £ &l 131,105 100.0 88,764 100.0 42,341 47.7
=] st 131,105 100.0 88,764 100.0 42,341 47.7

18




(2)

RLEIRI—8

© —fesit
(&8fi1 FMH. %)
- PR22FE P21 5= Itk &
FEHE (B THE |\t 18 6 %8 18RI
1 B 5,027 2.2 5,197 2.0 A170 A3.3
2 # Bl 11,937 5.1 12,541 4.8 604 N4.8
I B 8 F B F 7,598 3.3 8,651 3.3 A1,053 A12.2
4 #H = = 4,502 1.9 4,323 1.6 179 4.1
5 % & @ B #H 1 0.0 1 0.0 0 0.0
9 Ik = 40 0.0 40 0.0 0 0.0
10 X PR = 20 0.0 60 0.0 240 /\N66.7
11 & A & 2,352 1.0 2,573 1.0 A221 N\8.6
12 #® % = 1,322 0.6 1,334 0.5 A12 N0.9
13 & 5t gl 100,845  43.4 98,842  37.7 2,003 2.0
14 EFARNKRUOEREN 90,612  39.0 120,738  46.0 30,126 N25.0
19 BEEMHIRURTE 6,889 3.0 7,181 2.7 292 N4.1
23 EBREZMFROESIH 3 0.0 3 0.0 0 0.0
27 iR = 9 0.0 9 0.0 0 0.0
29 ¥ firs = 1,000 0.4 1,000 0.4 0 0.0
=) 5t 232,157| 100.0 262,493| 100.0 /30,336 A11.6
Q@ REESA TS —FBFEHIRH
(&8fi1 FMH. %)
- PR22FE P21 5= Itk ®
FTEHE (B THE |\ 18 6 %8 18R
1 Bl 0| — 48 2.1 A48 =2
11 & A & 0| — 355|  15.8 A355 R
12 #® % = 0| — 5 0.2 s =2
183 % 5 #l of — 735 32.8 AT35 R
18R & B A =& o — 1,100|  49.0 A1,100 HE
=) g of — 2,243 100.0 N2,243 R

19




5% T EFEMIEREERMNRE

(81 FH. %)

- PRR22FE PR21FE b ®
TEHEE (Bt THZ O|Emtk| 18 5 % 18RI
9 Ik & 48 0.2 95 0.9 NAT N49.5
11 & A = 5,204|  25.6 1,879  17.1 3,325 177.0
12 & % & 388 1.9 388 3.5 0 0.0
183 £ 5 7 3,242  16.0 1,683 15.3 1,559 92.6
14 FABKRUEREBHN 18 0.1 14 0.1 4 28.6
15 I 8 # & =5 0 0.0 2,520 23.0 A2,520 2
19 EBEEWHINRUR TR 3,000{ 14.8 3,080  28.1 N80 N2.6
25 1& I & 8,401| 41.4 1,317 12.0 7,084 537.9
=) 5t 20,301 100.0 10,976] 100.0 9,325 85.0

@ FBEEMERBXFNEE

(&1 FH. %)

. PRR22FE TR21FE Itk ®
- TEHEE |tk THZ | Emth| 18 5 %8 18RI
1 Bl 7,970 5.9 5,776 4.1 2,194 38.0
2 f#6 #l 42,498|  31.5 44,082|  31.4 1,584 A3.6
I B 8 F B F 23,485 17.4 24,042 17.1 557 N2.3
4 #H= = = 13,748|  10.2 12,924 9.2 824 6.4
7T 8 & 0 0.0 3,179 2.3 A3,179 S
8 & = 1,096 0.8 844 0.6 252 29.9
9 hx & 461 0.3 933 0.7 NA4T2 A50.6
10 X PR = 10 0.0 30 0.0 A20 /\N66.7
1 & H & 6,906 5.1 5,843 4.2 1,063 18.2
12 #®& 3% = 743 0.6 707 0.5 36 5.1
183 & 55 #l 6,126 4.5 8,090 5.8 A\1,964 N24.3
14 EFARNKRUOEREN 655 0.5 668 0.5 Al3 A1.9
15 I 5 % 8 & 1,028 0.8 5,756 4.1 N\4,728 A82.1
18 fm & B A B 490 0.4 0 0.0 490 g
19 eBEEMNRURTE 2,302 1.7 243 0.2 2,059 847.3
23 BREZMFROESIH 26,304| 19.5 26,304 18.7 0 0.0
25 & iV & 32 0.0 60 0.0 A28 AN46.7
27 i & 34 0.0 9 0.0 25 277.8
29 F fiws = 1,000 0.7 1,000 0.7 0 0.0
=) H 134,888 100.0 140,490 100.0 5,602 4.0
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